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Additional scatter plots of canyon morphometric parameters vs margin type

maximum width vs average width average width vs average depth maximum depth vs average depth
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r=0.801   p≤0.001

r=0.784   p≤0.001

r=0.907   p≤0.001Wmax vs Wav:    
N=17        p≤0.001rs=0.842
Wmax vs Wav:
N=26         p≤0.001rs=0.773
Wmax vs Wav:    
N=43        p≤0.001rs=0.814

r=0.345   p=0.016

r=0.772   p≤0.001

r=0.427   p=0.087Wav vs Dav:    
N=17        p=0.093rs=0.421
Wav vs Dav:
N=31         p≤0.001rs=0.811
Wav vs Dav:    
N=48        p=0.056rs=0.277

r=0.950   p≤0.001

r=0.893   p≤0.001

r=1.000   p≤0.001Dmax vs Dav:    
N=4        p=***rs=1.000
Dmax vs Dav:
N=11         p≤0.001rs=0.893
Dmax vs Dav:    
N=15        p≤0.001rs=0.958

r=0.501   p≤0.001

r=0.312   p=0.003

r=0.580   p≤0.001L vs SIav:    
N=82        p≤0.001rs=0.575
L vs SIav:
N=89         p≤0.001rs=0.534
L vs SIav:    
N=171        p≤0.001rs=0.539

r=0.303   p=0.001

r=0.181   p=0.181

r=0.371   p=0.004Wmax vs SIav:    
N=57        p=0.011rs=0.336
Wmax vs SIav:
N=56         p=0.017rs=0.317
Wmax vs SIav:    
N=113        p=0.002rs=0.285

r=0.358   p=0.004

r=0.208   p=0.210

r=0.506   p=0.012Dmax vs SIav:    
N=24        p=0.034rs=0.435
Dmax vs SIav:
N=38         p=0.077rs=0.291
Dmax vs SIav:    
N=62        p=0.017rs=0.302

r=0.238   p=0.058

r=0.362   p=0.012

r=0.248   p=0.338Wav vs SIav:    
N=17        p=0.142rs=0.372
Wav vs SIav:
N=47         p=0.022rs=0.333
Wav vs SIav:    
N=64        p=0.244rs=0.148

r=0.478   p≤0.001

r=0.394   p=0.028

r=0.647   p=0.002Dav vs SIav:    
N=20        p=0.199rs=0.300
Dav vs SIav:
N=31         p=0.017rs=0.425
Dav vs SIav:    
N=51        p≤0.001rs=0.542

r=-0.488  p≤0.001

r=-0.367  p=0.011

r=-0.528  p≤0.001Lvs thGav:    
N=71        p≤0.001rs=-0.742
L vs thGav:
N=47         p=0.001rs=-0.462
L vs thGav:    
N=118        p≤0.001rs=-0.682

r=-0.343  p=0.002

r=-0.351  p=0.036

r=-0.306  p=0.049Wmax vs thGav:    
N=42        p=0.034rs=-0.327
Wmax vs thGav:
N=36         p=0.097rs=-0.281
Wmax vs thGav:    
N=78        p=0.001rs=-0.363

r=-0.211  p=0.090

r=-0.099  p=0.615

r=-0.193  p=0.245Dmax vs thGav:    
N=38        p=0.270rs=-0.184
Dmax vs thGav:
N=28         p=0.881rs=0.030
Dmax vs thGav:    
N=66        p=0.258rs=-0.141

r=0.115   p=0.349

r=0.358   p=0.035

r=0.325   p=0.065L vs SWmax:    
N=33        p=0.276rs=0.196
L vs SWmax:
N=35         p≤0.001rs=0.669
L vs SWmax:    
N=68        p=0.006rs=0.331

r=-0.414  p≤0.001

r=-0.257  p=0.089

r=-0.521  p=0.001SIav vs thGav:    
N=36        p≤0.001rs=-0.606
SIav vs thGav:
N=45         p=0.234rs=-0.181
SIav vs thGav:    
N=81        p≤0.001rs=-0.466

r=-0.020  p=0.899

r=0.106   p=0.599

r=0.051   p=0.862SIav vs SWmax:    
N=14        p=0.720rs=0.105
SIav vs SWmax:
N=27         p=0.972rs=-0.007
SIav vs SWmax:    
N=41        p=0.661rs=-0.071

r=0.159   p=0.341

r=0.062   p=0.812

r=-0.007  p=0.975thGav vs SWmax:    
N=21        p=0.253rs=0.261
thGav vs SWmax:
N=17         p=0.794rs=0.069
thGav vs SWmax:    
N=38        p=0.077rs=0.290
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